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Mg P IEEA ouT IN GROSS HDCP NET
41 fH3E FIRX 46 45 91 14.2 16.8
42| #HHE 5F 46 48 94 17.2 16.8
43| FifE fES 45 51 96 18.8 11.2
44 WE RE 41 42 83 5.1 11.9
w45 B FEKX 44 48 92 13.5 18.5
46| _LHT EXER 50 42 92 13.5 18.5
47| tH X o1 44 95 16.5 18.5
48| SBh HE— 46 4] 93 14.2 18.8
49| Fik i&HR 53 47 100 20.8 19.2
50| AR B— 9/ o1 108 28.7 79.3
51| HIFt IE— 49 50 99 19.3 19.7
52| AR & 44 49 93 13.1 79.9
53| ER #l— 90 417 97 16.8 80.2
64| ®E BA 50 42 92 11.6 80.4
%55 EH RIA 46 49 95 14.6 80.4
66| Mg A 46 50 96 15.6 80.4
67| #i= 1845k 417 50 97 16.5 80.5
68| WT H&E 50 54 104 23.5 80.5
59 &k BIL 45 49 94 13.3 80.7
%60| AR th= 49 50 99 17.1 81.3
61 #Wx BE 91 45 96 14.6 81.4
62 Kl =E=E— 48 57 105 23.6 81.4
63| fEH &R 417 46 93 11.2 81.8
64 &I —EB 94 4 95 12.6 82.4
%65 JKH F=E 99 52 111 28.1 82.9
66| 52E FF—EQ 48 59 103 19.2 83.8
67| t# {E—8RB 90 54 104 18.3 85.7
68 /A A 92 61 113 26.4 86.6
69| LUK {25] 57/ 50 107 20 87
w10| Yz# 48 58 106 17.5 88.5
71| ZAH #iE 50 48 98 1.5 90.5
12| XK = 49 57 106 15.5 90.5
BG| XX & 39 36 15

JIEAVE ZINE 4 ouT IN GROSS HDCP NET
=85 M E—EBR 46 44 90 22 68
ﬁi%ﬂ% $H X&= _40 45 | 85 16.7 | 68.3
*4| EF KA 42 40 82 12.9 69.1
5| #H BA 11 46 87 17.6 69.4
6] TH {{H=xE 11 41 82 12.3 69.7

v d = 87 47 47 94 24.2 69.8
8] BMH IFsE 47 40 87 16.4 10.6

9] Eif 3 45 40 85 14.3 10.7
*10|  HIl 8 42 40 82 11 11
11 BA #% 37 43 80 8.7 711.3
12] R #= 11 40 81 9.5 11.5
13]  HIl &— 37 41 18 6.4 711.6
14] thH Sk 45 40 85 13 12
»* 15 XiE B 39 36 15 2.8 12.2
16] FiIF IEA 39 40 19 6.8 12.2
17] &K #= 48 44 92 19.8 12.2
18] 8 Bs=x 47 45 92 19.6 12.4
19] #3x ®A 44 44 88 15.4 12.6
%20 ERXK Bt 46 44 90 16.8 13.2
21 AXRE 48 44 92 18.8 13.2
22| IR Z—&8R 46 48 94 20.5 13.5
23] Hf EX 39 11 80 6.4 13.6
2] BEH B— 40 40 80 6 14
%25 AKXHE 42 43 85 10.8 14.2
260 5% FE 43 43 86 11.6 14.4
27l TR FA 45 44 89 14.4 14.6
28| EIEE #— 48 47 95 20.2 714.8
29| &M BREE 45 47 92 17.1 714.9
*30| FRIF & 51 48 99 241 714.9
31 BB £=X 44 51 95 19.9 75.1
32| /K EEBR 47 47 94 18.3 15.7
33 T 44 43 87 11.1 15.9
4 BRIl FEA 45 45 90 14.1 15.9
%35 HAIFF —% 43 44 87 11 16
36| X¥ EX 51 45 96 19.9 16.1
37 s 18 47 45 92 15.8 16.2
38| &£Hh FE 45 48 93 16.6 16.4
39] W & 45 49 94 17.4 16.6
*40] EXQ IFN 91 47 98 21.4 16.6
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g4 ZInE % OUT IN GROSS HDCP NET
41] =¥ ERX 48 52 100 25.8 14.2
42 E#H BIE 94 47 101 26.3 14.7
43| EA IEZ 50 44 94 19.2 74.8
44| =% EE 4] o1 98 22.9 75.1
w45 RF HF 46 42 88 12.7 75.3
46| /I A 46 50 96 20.7 75.3
47| K AF 53 51 104 28.7 75.3
48| EH BX 46 44 90 14.4 15.6
49 Ak =Y 41 42 83 1.2 75.8
wol0| T —#F 45 44 89 12.3 16.7
ol| RH A% 48 45 93 15.6 11.4
2| WT A& 48 4] 95 16.7 18.3
93 TE & 417 417 94 15.4 18.6
od| HIF FYF 3 57/ 110 31.2 18.8
w}oo| =R BE— o]/ 4] 104 25.1 18.9
06| EX IEF 92 48 100 21 19
o/| PH #hkiE 50 49 99 19.2 79.8
08| JkH Z=HR 4] 48 95 12.8 82.2
09| /MR FIE 58 59 117 34.7 82.3
60| %t & 417 o1 98 15.5 82.5
61] =% F8I 417 51 98 15 83
BG | kWU R&E 38 39 11

JIEAE BIN& % ouT IN GROSS HDCP NET
_ A 2 43 45 88 25.8 62.2
E3L sl BE— 38 40 78 14.2 63.8

w3 Ex FIE 43 40 83 17.7 65.3
4| BT BEiT 50 48 98 32.6 65.4
wo| &h =W 42 43 85 19.4 65.6
6] kH ZEX 47 50 97 31.4 65.6
Y/ =k B 44 47 91 25.2 65.8
8 Mg FEB 39 43 82 15.7 66.3
9] kW R&E 38 39 11 10.6 66.4
10| wAiF EFig 44 37 81 14.4 66.6
11| #¥H8 E=BF 48 49 97 29.6 67.4
12| U EE 40 42 82 14 68
13| WUF =&xX 43 4] 90 22 68
14] §z0 HWA 42 42 84 15.9 68.1
15| R FEi 42 46 88 19.8 68.2
16| EFH EX 44 40 84 15.4 68.6
171 ARE H 36 44 80 11.2 68.8
18] #HE Bh 42 4] 89 19.7 69.3
19 AFF g 46 48 94 24.3 69.7
w20 F ZBEF 44 40 84 14 70
21 KiE = 40 42 82 11.9 70.1
22| =R FH 47 48 95 24.8 70.2
23 ZH % 49 48 97 26.5 70.5
24| XkFH HKiE 11 43 84 13.2 70.8
w25 Th EF 49 43 92 21 71
26 Ak FEiE 45 48 93 21.8 71.2
27 BE & o1 43 94 22.8 71.2
28| MK E— 47 48 95 23.8 711.2
29| BK 2t 46 47 93 21.3 11.7
30| B &l 44 46 90 17.9 12.1
31 BR ¥ 44 41 85 12.8 12.2
32 XE =2 48 52 100 27.8 12.2
33| #HA &% 43 52 95 22.4 12.6
34| XKEKR #ED 44 45 89 16.1 12.9
35 2K # 50 43 93 20.1 12.9
36| JIllg —== 48 51 99 25.9 13.1
3/| =H EB 40 47 87 13.6 13.4
38 X & 48 49 97 23.2 13.8
39 E Iz 44 49 93 19.1 13.9
wA40| FEE R 48 49 97 23.1 13.9




